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- iFwe put asteel ingot into Fuvance the system would
approach equilibrium by veducing any ivon sxide present 4o
Ivon «

If we incveased the temp. of the Fuvance to 1000 °c the -
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& in ovder to veach equilibvivm the ivon

would be oxidized -

sy The Vait Hof? Isotherm s
For ‘the veaction . A+B =C+D
we will ams}di( this chemical veaction involving the ideal gases
L
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Change theiv pavtial pressure to the equilibrivm Value P4, Py by
Tsotherm vevevsible change . =

So the Free energy change involved in changing partial pressure
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% IF the system is at eyﬂihﬁum theve ave v Free avwrgi :hmac .
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Subject:

& Aimole oF each the goses (c&p) chqnaa From theiv pavtial
e ol — Roh

5 AG, = RT Infe 4 RT Iy Lo
Pe P>
% So the Free enevgg Gf'lavgo in the veaction go
& MG = LG+ 06
546 RT!nPf'+RTin f’ﬂ FRT W fE f’c +RT Infe Pv

PO KT[lnﬁq_[nPAl-#RT[’n/’JB_!wﬁJ J,me,;gnfs] x Rmnfp_mﬁ; i

e AeoRT A Pa P5+RTMP‘PD N
! P fa.Pe

4 46 =-RTl fvf’n 4+ RT n_fe-Fo
{ Pa-Fe Fa- P

& AG = _RT lnKp 4+ RT In fePo
Fa-fo

Abeve eguation Knowin as the *vart hstf isotherm .

% IEth teation of the weactints ave used as in the
case of Solid 4 liquid -

C %8G = - RT In'Ke 4 RT In Ce-Co
" Ca-Ce
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© Subject: B

Nt stiifip Wpe o X,}Fp ave a;m! to 1 afom pressuve
that is the veactants & praducts ave in theiv standavd states.

wheve 3
il 1
Pa- fa
o = | AG = _RT lnkp = 46° AG°

the standavd
Yl == | 86 = —RT lake = 4G°|  Free enevgy
change -
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Exse In the veactions.
Aly0ssy + 3 Csy = 2Al 4y + 3CO @ at 1500%

#* A0y = 2A1 + 30,4, A6 = + 1017000 3
* 3Ciy + 3% 0sy =3C0s 86y, =-866000 T

© this veaction spontencously ov not ¢
@ 17 the veaction is not spontenesusly,change itts sfmfmmuslﬂ

Sol: @ AG"= AGS + AG;
4G = +101#000 - 866000
AG° = 151000 F
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3 I P 3
= A6y, = + 151000 + RT !%
Al /]

= Af’lm = +.151000. .F -

@ I# we veduce the pavtial pressuve o cavhon manoride g4
in the system Ly_placing the veactants in «vaccum wnit .

AG = 151600 4+ RT In p; | Feo ot a0 43
1 + 151000,
16! + 49000
1% | - 52700
163 | _154400
167 -256t00
155 | _35%700

So g

0} Fe-Po :Fc ~j’b

fa-fa < Fa - Ps
the equilibrium constant A6 must be negative & the veaction
will pyoceed From le#t 4o vight . -

o ffo R ot equilibviom A G =0
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